

Boundary Stabilization of a Coupled Wave-ODE System

ZHOU Zhongcheng¹, TANG Shuxia²

1. School of Mathematics and Statistics, Southwest University, Chongqing, 400715, P.R.China.
 E-mail: zhouzc@amss.ac.cn

2. School of Mathematics and Statistics, Southwest University, Chongqing, 400715, P.R.China.
 E-mail: tkongzhi@swu.edu.cn

Abstract: In this paper, we consider stabilization of a coupled wave-ODE system by backstepping method through converting the original system into a stable target system. At the same time, we prove that there exists a unique classical solution for gain function equations by iterative method and some technical skills.

Key Words: Coupled wave-ODE system, Stabilization, Backstepping

1 Introduction

In this paper, we consider stabilization of the following coupled wave-ODE system

$$\begin{cases} u_{tt} - u_{xx} = \lambda(x)u_t + \beta(x)u + CX(t), \\ \dot{X}(t) = AX(t) + Bu_x(0, t), \\ u(0, t) = 0, u(1, t) = U(t), X(0) = x_0, \\ u(x, 0) = u_0(x), u_t(x, 0) = u_1(x), \end{cases} \quad (1.1)$$

where $\lambda(\cdot) \in C^2([0, 1])$, $\beta(\cdot) \in C([0, 1])$, $X(t) \in \mathbb{R}^n$ is the ODE state, and the pair (A, B) is assumed to be stabilizable; $u(x, t) \in \mathbb{R}$ is the state of wave equation, C is a known suitable matrix; x_0 , $u_0(x)$ and $u_1(x)$ is initial data; $U(t)$ is the boundary control.

Many authors have showed strong interest in considering controllability and stabilization of coupled systems appeared in many practical control systems such as electromagnetic coupling, mechanical coupling and coupled chemical reactions. Controllability of coupled systems has been discussed in [13, 14] and the references therein. As for stabilization, there are many important tools for constructing explicit stabilizing feedback controllers, such as control Lyapunov function, damping, homogeneity, averaging, backstepping and forwarding methods. What we should emphasis is that backstepping method is a very useful method to design controllers for systems, which have been used in kinds of equations, see [4, 5, 7, 8]. As for stabilization of cascaded PDE-ODE system, Krstic discussed them in [1, 2, 3, 9] by backstepping method. As for stabilization of coupled system, the authors discussed stabilization of coupled heat-ODE system by backstepping method in [10]. How to design the boundary feedback controllers of coupled wave-ODE system is also an interesting problem.

In system (1.1), for constant λ , one can eliminate the anti-damping term by introducing the new variable $v(x, t) = e^{-\lambda t}u(x, t)$. However, this idea does not work for spatially varying $\lambda(x)$. The main idea of this paper is to use the trans-

formation

$$w(x, t) = h(x)u(x, t) - \int_0^x k(x, y)u(y, t)dy - \int_0^x s(x, y)u_t(y, t)dy - M(x)X(t) \quad (1.2)$$

and the feedback controller

$$U(t) = \frac{1}{h(1)} \left\{ \int_0^1 k(1, y)u(y, t)dy + \int_0^1 s(1, y)u_t(y, t)dy + M(1)X(t) \right\}, \quad (1.3)$$

where the function $h = h(x)$, gain functions $k = k(x, y)$ and $s = s(x, y)$ are to be appropriately chosen later, to convert (1.1) into

$$\begin{cases} w_{tt} - w_{xx} = -d(x)w_t - c(x)w, \\ \dot{X}(t) = (A + BK)X(t) + Bw_x(0, t), \\ w(0, t) = 0, w(1, t) = 0, \\ X(0) = x_0, \\ w(x, 0) = w_0(x), w_t(x, 0) = w_1(x) \end{cases} \quad (1.4)$$

with K being chosen such that $A + BK$ is Hurwitz. For positive smooth functions $c(x)$ and $d(x)$, the authors have proved exponential stability for w -equation of (1.4) in [6], by which and the second equation of (1.4), we can obtain exponential stability of $w(x, t)$ and $X(t)$ in (1.4). Then, we can use exponential stability of (1.4) and invertibility of the transformation (1.2) to obtain stability of the closed-loop system (1.1) and (1.3).

The rest of this paper is organized as follows. In Section 2, we will construct the feedback controller and state the main theorem. In Section 3, we will prove there exists a unique classical solution of gain function equations of $k(x, y)$, $s(x, y)$ and $M(x)$.

2 Main theorem and feedback controller design

The transformation $(X(t), u(x, t)) \mapsto (X(t), w(x, t))$ is postulated in (1.2), where the gain functions $k(x, y)$, $s(x, y) \in \mathbb{R}$ and $M(x) \in \mathbb{R}^n$ are to be determined later. The inverse transformation $(X(t), w(x, t)) \mapsto (X(t), u(x, t))$ is postulated in a similar way. By

$$w_{tt} - w_{xx} + d(x)w_t + c(x)w = 0,$$

This work is supported by National Nature Science Foundation under Grant 11026111; the Fundamental Research Funds for the Central Universities under contract XDJK2009C099 and the Ph.D Foundation of Southwest University under contract SWU110044.

after some detailed computation and rearranging the terms, we can obtain that

$$\begin{aligned}
& \left\{ h(x)C - \int_0^x k(x,y)Cdy - \int_0^x s(x,y)CA dy - M(x)A^2 \right. \\
& - \int_0^x s(x,y)\lambda(y)Cdy - c(x)M(x) \\
& - d(x) \int_0^x s(x,y)Cdy - d(x)M(x)A + M''(x) \left. \right\} X(t) \\
& + \int_0^x u(y,t) \left\{ k_{xx} - k_{yy} - (c(x) + \beta(y))k - 2\lambda'(y)s_y \right. \\
& - (\lambda(y)\beta(y) + \lambda''(y) + d(x)\beta(y))s - (\lambda(y) + d(x))s_{yy} \left. \right\} dy \\
& + \int_0^x u_t(y,t) \left\{ s_{xx} - s_{yy} - (\lambda(y) + d(x))k \right. \\
& - [\lambda^2(y) + d(x)\lambda(y) + c(x) + \beta(y)]s \left. \right\} dy \\
& + \left\{ h(x)\beta(x) + k_y(x,x) + (\lambda(y)s(x,y))_y(x,x) - h''(x) \right. \\
& + \frac{d}{dx}k(x,x) + k_x(x,x) + d(x)s_y(x,x) + c(x)h(x) \left. \right\} u \\
& + \left\{ \lambda(x)h(x) + s_x(x,x) + \frac{d}{dx}s(x,x) + s_y(x,x) \right. \\
& + d(x)h(x) \left. \right\} u_t - \left\{ \lambda(x)s(x,x) + 2h'(x) + d(x)s(x,x) \right\} u_x \\
& + \left\{ - \int_0^x s(x,y)CBdy + k(x,0) + s(x,0)\lambda(0) \right. \\
& - M(x)AB - d(x)M(x)B + d(x)s(x,0) \left. \right\} u_x(0,t) \\
& + \left\{ s(x,0) - M(x)B \right\} u_{xt}(0,t) = 0. \tag{2.1}
\end{aligned}$$

Next, we can choose $k(x, y)$, $s(x, y)$ and $M(x)$ to satisfy the following coupled PDEs

$$\begin{cases} k_{xx} - k_{yy} - (c(x) + \beta(y))k - (\lambda(y) + d(x))s_{yy} \\ - (\lambda(y)\beta(y) + \lambda''(y) + d(x)\beta(y))s - 2\lambda'(y)s_y = 0, \\ 2\frac{d}{dx}k(x,x) + (\lambda(x) + d(x))s_y(x,x) + \lambda'(x)s(x,x) \\ + (c(x) + \beta(x))h(x) - h''(x) = 0, \\ k(x,0) = \int_0^x s(x,y)CBdy - \lambda(0)M(x)B + M(x)AB, \end{cases} \tag{2.2}$$

$$\begin{cases} s_{xx} - s_{yy} - (\lambda(y) + d(x))k \\ - (\lambda^2(y) + d(x)\lambda(y) + c(x) + \beta(y))s = 0, \\ 2\frac{d}{dx}s(x,x) = -(\lambda(x) + d(x))h(x), \\ 2h'(x) = -(\lambda(x) + d(x))s(x,x), \\ s(x,0) = M(x)B \end{cases} \tag{2.3}$$

and

$$\begin{aligned}
& M''(x) - M(x)(A^2 + c(x)I_n + d(x)A) \\
& - \int_0^x s(x,y)\lambda(y)Cdy - \int_0^x s(x,y)CA dy \\
& - \int_0^x k(x,y)Cdy + h(x)C - d(x) \int_0^x s(x,y)Cdy = 0. \tag{2.4}
\end{aligned}$$

Choosing $h(0) = 1$, according to (1.4) and (1.2), we can obtain $M(0) = 0$ and $M'(0) = K$. By the second and third

equality of (2.3), we can obtain

$$h'(x)h(x) = s(x,x)\frac{d}{dx}s(x,x).$$

Integrating and noticing $h(0) = 1$, we get $s(0,0) = 0$. Hence

$$\frac{h'(x)}{\sqrt{h^2(x) - 1}} = \frac{\lambda(x) + d(x)}{2},$$

which gives that

$$h(x) = \cosh\left(\int_0^x a(\tau)d\tau\right),$$

where $a(x) := \frac{\lambda(x)+d(x)}{2}$. So, we have

$$s(x,x) = -\frac{h'(x)}{a(x)} = -\sinh\left(\int_0^x a(\tau)d\tau\right).$$

Next, we will compute $k(x, x)$ explicitly. Let us denote

$$f(x) := s_y(x, x).$$

Integrating the second equality of (2.2) and substituting $s(x, x)$ by $-\frac{h'(x)}{a(x)}$, we have

$$\begin{aligned}
2k(x,x) &= h'(x) + \int_0^x \left\{ -2a(\tau)f(\tau) + \frac{\lambda'(\tau)h'(\tau)}{a(\tau)} \right. \\
& \left. - (\beta(\tau) + c(\tau))h(\tau) \right\} d\tau. \tag{2.5}
\end{aligned}$$

Next, we compute $f(x)$. By

$$\frac{d}{dx}s(x,x) = -a(x)h(x),$$

we have

$$s_x(x,x) = -a(x)h(x) - f(x).$$

By the first equality of (2.3) and substituting y with x , we have

$$\begin{aligned}
& s_{xx}(x,x) - s_{yy}(x,x) \\
& = (s_x(x,x) - s_y(x,x))' \\
& = 2a(x)k(x,x) + (\lambda^2(x) + d(x)\lambda(x) + c(x) + \beta(x))s(x,x) \\
& = (-a(x)h(x) - 2f(x))' \tag{2.6}
\end{aligned}$$

By (2.5) and (2.6), we obtain

$$\begin{aligned}
& -2f'(x) - a'(x)h(x) - a(x)h'(x) \\
& = a(x) \left\{ h'(x) + \int_0^x [-2a(\tau)f(\tau) + \frac{\lambda'(\tau)h'(\tau)}{a(\tau)} \right. \\
& \left. - (\beta(\tau) + c(\tau))h(\tau)] d\tau \right\} \\
& + (\lambda^2(x) + d(x)\lambda(x) + c(x) + \beta(x))s(x,x). \tag{2.7}
\end{aligned}$$

Simplifying (2.7), we have

$$\begin{aligned}
& 2f'(x) - 2a(x) \int_0^x a(\tau)f(\tau)d\tau \\
& = -2a(x)h'(x) - a'(x)h(x) \\
& - a(x) \int_0^x \left\{ \frac{\lambda'(\tau)h'(\tau)}{a(\tau)} - (\beta(\tau) + c(\tau))h(\tau) \right\} d\tau \\
& + (\lambda^2(x) + d(x)\lambda(x) + c(x) + \beta(x)) \sinh\left(\int_0^x a(\tau)d\tau\right). \tag{2.8}
\end{aligned}$$

By (2.8), $s(x, 0) = M(x)B$, $M(0) = 0$ and $M'(0) = K$, we obtain that $f(x)$ satisfies

$$\begin{cases} 2f'(x) - 2a(x) \int_0^x a(\tau)f(\tau)d\tau = L(x), \\ f(0) = -a(0) - KB, \end{cases} \quad (2.9)$$

where $L(x)$ is defined by

$$\begin{aligned} L(x) := & -2a(x)h'(x) - a'(x)h(x) \\ & - a(x) \int_0^x \left\{ \frac{\lambda'(\tau)h'(\tau)}{a(\tau)} - (\beta(\tau) + c(\tau))h(\tau) \right\} d\tau \\ & + (\lambda^2(x) + d(x)\lambda(x) + c(x) + \beta(x)) \sinh \left(\int_0^x a(\tau)d\tau \right). \end{aligned}$$

Differentiating (2.9) on both sides, $f(x)$ should satisfy

$$\begin{cases} 2a(x)f''(x) - 2a'(x)f'(x) - 2a^3(x)f(x) \\ \quad = L'(x)a(x) - L(x)a'(x), \\ f(0) = -a(0) - KB, f'(0) = -\frac{a'(0)}{2}. \end{cases} \quad (2.10)$$

Solving (2.10), we obtain

$$\begin{aligned} f(x) = & (-a(0) - KB) \cosh \left(\int_0^x a(\tau)d\tau \right) \\ & + \frac{1}{2} \int_0^x L(y) \cosh \left(\int_y^x a(\tau)d\tau \right) dy. \end{aligned} \quad (2.11)$$

Hence

$$\begin{aligned} k(x, x) = m(x) := & \frac{1}{2}h'(x) \\ & + \frac{1}{2} \int_0^x \left\{ -2a(\tau) \left[(-a(0) - KB) \cosh \left(\int_0^\tau a(s)ds \right) \right. \right. \\ & \left. \left. + \frac{1}{2} \int_0^\tau L(y) \cosh \left(\int_y^\tau a(s)ds \right) dy \right] \right. \\ & \left. + \frac{\lambda'(\tau)h'(\tau)}{a(\tau)} - (\beta(\tau) + c(\tau))h(\tau) \right\} d\tau. \end{aligned} \quad (2.12)$$

Let us define $\rho_i (i = 1, 2, 3, 4, 5)$ as follows: $\rho_1(x, y) = \lambda(y) + d(x)$, $\rho_2(x, y) = c(x) + \beta(y)$, $\rho_3(x, y) = \lambda(y)\beta(y) + \lambda''(y) + d(x)\beta(y)$, $\rho_4(x, y) = 2\lambda'(y)$, $\rho_5(x, y) = \lambda^2(y) + d(x)\lambda(y) + c(x) + \beta(y)$. We can obtain the following coupled system

$$\begin{cases} k_{xx} - k_{yy} = \rho_1 s_{yy} + \rho_2 k + \rho_3 s + \rho_4 s_y, \\ k(x, x) = m(x), \\ k(x, 0) = \int_0^x s(x, y)CBdy - \lambda(0)M(x)B + M(x)AB, \end{cases} \quad (2.13)$$

$$\begin{cases} s_{xx} - s_{yy} = \rho_1 k(x, y) + \rho_5 s(x, y), \\ s(x, x) = -\sinh \left(\int_0^x a(\tau)d\tau \right), \\ s(x, 0) = M(x)B \end{cases} \quad (2.14)$$

and

$$\begin{cases} M''(x) - M(x)(A^2 + c(x)I_n + d(x)A) \\ - \int_0^x s(x, y)\lambda(y)Cdy - \int_0^x s(x, y)CA dy \\ - \int_0^x k(x, y)Cdy + h(x)C - d(x) \int_0^x s(x, y)Cdy = 0, \\ M(0) = 0, \\ M'(0) = K. \end{cases} \quad (2.15)$$

Introducing the space $H_L^1(0, 1)$ defined by

$$H_L^1(0, 1) := \{w \in H^1(0, 1) | w(0) = 0\}$$

and endowed with the H^1 -norm, denote the domain

$$\mathbb{T} := \{(x, y) \in \mathbb{R}^2 | 0 \leq x \leq 1, 0 \leq y \leq x\}.$$

We state the following main theorem.

Theorem 2.1 Let $\lambda(\cdot) \in C^2([0, 1])$, $\beta(\cdot) \in C([0, 1])$, $0 < c(\cdot) \in C([0, 1])$ and $0 < d(\cdot) \in C^1([0, 1])$, then there exist functions $h(\cdot) \in C^2([0, 1])$, $M(\cdot) \in C^2([0, 1])$, $k(\cdot, \cdot)$ and $s(\cdot, \cdot) \in C^2(\mathbb{T})$, such that for any $(x_0, u_0(\cdot), u_1(\cdot)) \in \mathbb{R}^n \times H_L^1(0, 1) \times L^2(0, 1)$ satisfying the compatibility condition

$$\begin{aligned} u_0(1) = & \frac{1}{h(1)} \left\{ \int_0^1 k(1, y)u_0(y)dy \right. \\ & \left. + \int_0^1 s(1, y)u_1(y)dy + M(1)X(t) \right\}, \end{aligned}$$

there exists a unique classical solution for the closed-loop system (1.1) and (1.3) in the space $C([0, +\infty); H_L^1(0, 1)) \cap C^1([0, 1]; L^2(0, 1))$. Moreover, $\exists \omega, C > 0$ independent of initial data such that the solution $u(\cdot, t)$ and $X(t)$ satisfy

$$\begin{aligned} \|(u(\cdot, t), u_t(\cdot, t), X(\cdot))\|_{H^1 \times L^2 \times \|\cdot\|} \\ \leq C e^{-\omega t} \|(u_0(\cdot), u_1(\cdot), x_0)\|_{H^1 \times L^2 \times \|\cdot\|}. \end{aligned} \quad (2.16)$$

3 Existence of the gain functions

To prove the existence of solutions for systems(2.13), (2.14) and (2.15), we use the following change of variable

$$\xi = x + y, \quad \eta = x - y.$$

Let us define the functions $G = G(\xi, \eta)$, $G^s = G^s(\xi, \eta)$ by

$$G(\xi, \eta) = k \left(\frac{\xi + \eta}{2}, \frac{\xi - \eta}{2} \right), \quad G^s(\xi, \eta) = s \left(\frac{\xi + \eta}{2}, \frac{\xi - \eta}{2} \right).$$

Set $g_1(\xi) := m(\frac{\xi}{2})$, $g_2(\xi) := -\sinh \left(\int_0^{\frac{\xi}{2}} a(\tau)d\tau \right)$, $f_1(\xi) = \int_0^{\frac{\xi}{2}} s(\xi, y)CBdy - \lambda(0)M(\xi)B + M(\xi)AB$, $f_2(\xi) = M(\xi)B$ and $b_i(\xi, \eta) = \rho_i \left(\frac{\xi + \eta}{2}, \frac{\xi - \eta}{2} \right)$ ($i = 1, 2, 3, 4, 5$). By (2.13) and (2.14), we can obtain the following coupled PDEs

$$\begin{cases} G_{\xi\eta} = b_1(G_{\xi\xi}^s - 2G_{\xi\eta}^s + G_{\eta\eta}^s) + b_2G \\ \quad + b_3G^s + b_4(G_\xi^s - G_\eta^s), \\ G(\xi, 0) = g_1(\xi), \\ G(\xi, \xi) = f_1(\xi) \end{cases} \quad (3.1)$$

and

$$\begin{cases} G_{\xi\eta}^s = b_1G + b_5G^s, \\ G^s(\xi, 0) = g_2(\xi), \\ G^s(\xi, \xi) = f_2(\xi). \end{cases} \quad (3.2)$$

Integrating (3.1), first with respect to η from 0 to η , then with respect to ξ from η to ξ , we obtain

$$\begin{aligned} G(\xi, \eta) = & g_1(\xi) + f_1(\eta) - g_1(\eta) + \int_\eta^\xi \int_0^\eta b_2G dsd\tau \\ & + \int_\eta^\xi \int_0^\eta b_1(G_{\xi\xi}^s - 2G_{\xi\eta}^s + G_{\eta\eta}^s) dsd\tau \\ & + \int_\eta^\xi \int_0^\eta \left\{ b_3G^s + b_4(G_\xi^s - G_\eta^s) \right\} dsd\tau. \end{aligned} \quad (3.3)$$

Similarly, integrating (3.2), first with respect to η from 0 to η , then with respect to ξ from η to ξ , we get

$$G^s(\xi, \eta) = g_2(\xi) + f_2(\eta) - g_2(\eta) + \int_{\eta}^{\xi} \int_0^{\eta} (b_1 G + b_5 G^s) ds d\tau. \quad (3.4)$$

According to (2.15), define

$$F(x) := \int_0^x s(x, y) \lambda(y) C dy + \int_0^x s(x, y) C A dy + \int_0^x k(x, y) C dy + d(x) \int_0^x s(x, y) C dy,$$

we have

$$\begin{cases} M'' = M(A^2 + c(x)I_n + d(x)A) + F(x) - h(x)C, \\ M(0) = 0, \\ M'(0) = K. \end{cases} \quad (3.5)$$

Then

$$\begin{cases} Y'(x) = LY + \vec{F}(x), \\ Y(0) = Y_0, \end{cases} \quad (3.6)$$

where

$$L = \begin{pmatrix} 0 & I_n \\ (A^2 + c(x)I_n + d(x)A)^T & 0 \end{pmatrix},$$

$\vec{F}(x) = (0, \tilde{F}(x))^T$, $Y = (M(x), M'(x))^T$, $Y_0 = (0, K)^T$, $\tilde{F}(x) := F(x) - h(x)C$. Set $\Phi(x)$ be fundamental solution matrix of $Y'(x) = LY(x)$, then

$$\begin{aligned} Y(x) &= \Phi(x) \begin{pmatrix} 0 \\ K \end{pmatrix} + \int_0^x \Phi(x) \Phi^{-1}(\tau) \begin{pmatrix} 0 \\ \tilde{F}(\tau) \end{pmatrix} d\tau, \\ &= \begin{pmatrix} \Phi_{11}(x) & \Phi_{12}(x) \\ \Phi_{21}(x) & \Phi_{22}(x) \end{pmatrix} \begin{pmatrix} 0 \\ K \end{pmatrix} \\ &\quad + \int_0^x \begin{pmatrix} \Psi_{11}(x, \tau) & \Psi_{12}(x, \tau) \\ \Psi_{21}(x, \tau) & \Psi_{22}(x, \tau) \end{pmatrix} \begin{pmatrix} 0 \\ \tilde{F}(\tau) \end{pmatrix} d\tau. \end{aligned}$$

where we get the above equality by dividing matrix $\Phi(x)$ and $\Phi(x)\Phi^{-1}(\tau)$ into appropriate block matrix $\Phi_{ij}(x)$, $\Psi_{ij}(x, \tau)$ ($i, j = 1, 2$). Hence, we can obtain

$$M'(x) = \Phi_{22}(x)K + \int_0^x \Psi_{22}(x, \tau) \tilde{F}(\tau) d\tau.$$

Hence

$$M(x) = \int_0^x \Phi_{22}(y)K dy + \int_0^x \int_0^y \Psi_{22}(y, \tau) \tilde{F}(\tau) d\tau dy. \quad (3.7)$$

Substituting $M(x)$ into (3.3) and (3.4), we can obtain

$$\begin{aligned} G(\xi, \eta) &= g_1(\xi) - \lambda(0) \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} B \\ &\quad + \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} AB \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} b_2 G^n ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} b_1 (G_{\xi\xi}^{s,n} - 2G_{\xi\eta}^{s,n} + G_{\eta\eta}^{s,n}) ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} \left\{ b_3 G^{s,n} + b_4 (G_{\xi}^{s,n} - G_{\eta}^{s,n}) \right\} ds d\tau \end{aligned} \quad (3.8)$$

$$\begin{aligned} &- g_1(\eta) + \int_0^{\eta} s(\eta, y) C B dy \\ &- \lambda(0) \left\{ \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F(\tau) d\tau dy \right\} B \\ &\quad + \left\{ \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F(\tau) d\tau dy \right\} AB + \int_{\eta}^{\xi} \int_0^{\eta} b_2 G^n ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} b_1 (G_{\xi\xi}^{s,n} - 2G_{\xi\eta}^{s,n} + G_{\eta\eta}^{s,n}) ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} \left\{ b_3 G^{s,n} + b_4 (G_{\xi}^{s,n} - G_{\eta}^{s,n}) \right\} ds d\tau \end{aligned} \quad (3.8)$$

and

$$\begin{aligned} G^s(\xi, \eta) &= g_2(\xi) - g_2(\eta) \\ &\quad + \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} B \\ &\quad + \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F(\tau) d\tau dy B + \int_{\eta}^{\xi} \int_0^{\eta} (b_1 G + b_5 G^s) ds d\tau. \end{aligned} \quad (3.9)$$

We will use a classical iterative method to prove that system (3.8) and (3.9) has a unique classical solution. We define $G^{1,s}$ and $G^{s,1}$ as

$$\begin{aligned} G^{1,s}(\xi, \eta) &:= g_1(\xi) - g_1(\eta) - \lambda(0) \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} B \\ &\quad + \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} AB, \end{aligned}$$

$$\begin{aligned} G^{s,1}(\xi, \eta) &:= g_2(\xi) - g_2(\eta) \\ &\quad + \left\{ \int_0^{\eta} \Phi_{22}(y)K dy - \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) h(\tau) C d\tau dy \right\} B. \end{aligned}$$

We next construct the following recursion for $n = 1, 2, 3, \dots$

$$\begin{aligned} &G^{n+1}(\xi, \eta) \\ &= \int_0^{\eta} G^{s,n}(\eta + y, \eta - y) C B dy \\ &\quad - \lambda(0) \left\{ \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F^n(\tau) d\tau dy \right\} B \\ &\quad + \left\{ \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F^n(\tau) d\tau dy \right\} AB + \int_{\eta}^{\xi} \int_0^{\eta} b_2 G^n ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} b_1 (G_{\xi\xi}^{s,n} - 2G_{\xi\eta}^{s,n} + G_{\eta\eta}^{s,n}) ds d\tau \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} \left\{ b_3 G^{s,n} + b_4 (G_{\xi}^{s,n} - G_{\eta}^{s,n}) \right\} ds d\tau \end{aligned} \quad (3.10)$$

and

$$\begin{aligned} G^{s,n+1}(\xi, \eta) &= \left\{ \int_0^{\eta} \int_0^y \Psi_{22}(y, \tau) F^n(\tau) d\tau dy \right\} B \\ &\quad + \int_{\eta}^{\xi} \int_0^{\eta} (b_1 G^n + b_5 G^{s,n}) ds d\tau. \end{aligned} \quad (3.11)$$

By the definition of $G^1(\xi, \eta)$ and $G^{s,1}(\xi, \eta)$, we can find large enough number M such that $|G^1(\xi, \eta)|, |G_\xi^1(\xi, \eta)|, |G_\eta^1(\xi, \eta)|, |G^{s,1}(\xi, \eta)|, |G_{\xi\xi}^{s,1}(\xi, \eta)|, |G_{\eta\eta}^{s,1}(\xi, \eta)|, |G_{\xi\eta}^{s,1}(\xi, \eta)|$ are smaller than M . Let us now suppose that for some $n \in \mathbb{N}$, we have

$$\begin{aligned} |G^n| &\leq MK^n \frac{(\xi + \eta)^n}{n!}, \\ |G^{s,n}| &\leq MK^n \frac{(\xi + \eta)^{n+1}}{(n+1)!}, \\ |G_\xi^n|, |G_\eta^n| &\leq MK^n \frac{(\xi + \eta)^{n-1}}{(n-1)!}, \\ |G_\xi^{s,n}|, |G_\eta^{s,n}| &\leq MK^n \frac{(\xi + \eta)^n}{n!}, \\ |G_{\xi\xi}^{s,n}|, |G_{\xi\eta}^{s,n}|, |G_{\eta\eta}^{s,n}| &\leq MK^n \frac{(\xi + \eta)^{n-1}}{(n-1)!}. \end{aligned} \quad (3.12)$$

Next, we will prove that (3.12) holds for $n+1$. By the expression of $F^n(\tau)$, there exists a constant L large enough, such that

$$|F^n(\tau)| \leq LMK^n \frac{(2\tau)^n}{n!}. \quad (3.13)$$

According to (3.11), we have

$$\begin{aligned} &|G^{s,n+1}(\xi, \eta)| \\ &\leq \int_0^\eta \int_0^y LMK^n \frac{(2\tau)^n}{n!} d\tau dy \\ &+ \|b_1\|_{L^\infty} \int_\eta^\xi \int_0^\eta |G^n| ds d\tau + \|b_5\|_{L^\infty} \int_\eta^\xi \int_0^\eta |G^{s,n}| ds d\tau \\ &\leq LMK^n \left(\int_0^\eta \int_0^y \frac{(2\tau)^n}{n!} d\tau dy + \int_\eta^\xi \int_0^\eta \frac{(\tau+s)^{(n+1)}}{(n+1)!} ds d\tau \right) \\ &\leq MK^{n+1} \frac{(\xi + \eta)^{n+2}}{(n+2)!}, \end{aligned} \quad (3.14)$$

where K is chosen large enough. Next we estimate

$$\begin{aligned} &|G^{n+1}(\xi, \eta)| \\ &\leq LMK^n \frac{(\xi + \eta)^{n+1}}{(n+1)!} + \int_0^\eta \int_0^y 2LMK^n \frac{(2\tau)^n}{n!} d\tau dy \\ &+ \|b_2\|_{L^\infty} \int_\eta^\xi \int_0^\eta |G^n| ds d\tau + \|b_3\|_{L^\infty} \int_\eta^\xi \int_0^\eta |G^{s,n}| ds d\tau \\ &+ \|b_1\|_{L^\infty} \int_\eta^\xi \int_0^\eta (|G_{\xi\xi}^{s,n}| + 2|G_{\xi\eta}^{s,n}| + |G_{\eta\eta}^{s,n}|) ds d\tau \\ &+ \|b_4\|_{L^\infty} \int_\eta^\xi \int_0^\eta (|G_\xi^{s,n}| + |G_\eta^{s,n}|) ds d\tau \\ &\leq MK^{n+1} \frac{(\xi + \eta)^{n+1}}{(n+1)!}, \end{aligned} \quad (3.15)$$

where K is chosen large enough. In a very similar way, we can obtain

$$\begin{aligned} |G_\xi^{n+1}|, |G_\eta^{n+1}| &\leq MK^{n+1} \frac{(\xi + \eta)^n}{n!}, \\ |G_\xi^{s,n+1}|, |G_\eta^{s,n+1}| &\leq MK^{n+1} \frac{(\xi + \eta)^{n+1}}{(n+1)!}, \\ |G_{\xi\xi}^{s,n+1}|, |G_{\xi\eta}^{s,n+1}|, |G_{\eta\eta}^{s,n+1}| &\leq MK^{n+1} \frac{(\xi + \eta)^n}{n!}. \end{aligned} \quad (3.16)$$

Thus, by induction we have proved that (3.12) holds with a constant K large enough only dependent on some known functions. Once the estimates (3.12) are proved, it follows that the solutions (3.3) and (3.4) are given by the series

$$G^s(\xi, \eta) = \sum_{n=1}^{\infty} G^{s,n}(\xi, \eta), \quad G(\xi, \eta) = \sum_{n=1}^{\infty} G^n(\xi, \eta)$$

which are two continuous functions. By the fact that b_i ($i = 1, 2, 3, 4, 5$) are continuous functions, we can obtain that $G(\cdot, \cdot)$, $G^s(\cdot, \cdot)$ and $M(\cdot)$ belongs to C^2 in terms of (3.1), (3.2) and (3.7). Hence, we obtain the following existence theorem which shows the existence of the gain functions $k(x, y)$, $s(x, y)$ and $M(x)$.

Theorem 3.1 *Let $\lambda(\cdot) \in C^2([0, 1])$, $\beta(\cdot) \in C([0, 1])$, $0 < c(\cdot) \in C([0, 1])$ and $0 < d(\cdot) \in C^1([0, 1])$, then system (2.13), (2.14) and (2.15) has a unique classical solution $M(\cdot) \in C^2([0, 1])$, $k(\cdot, \cdot)$ and $s(\cdot, \cdot) \in C^2(\mathbb{T})$.*

References

- [1] M. Krstic, *Compensating actuator and sensor dynamics governed by diffusion PDEs*[M], *Systems and Control Letters*, 58 (2009), 372-377.
- [2] M. Krstic, *Compensating a string PDE in the actuation or in sensing path of an unstable ODE*[J], *IEEE Transaction on Automatic Control* 54 (2009), 1362-1368.
- [3] M. Krstic, *Delay Compensation for Nonlinear, Adaptive, and PDE Systems*[M], Birkhauser, 2009.
- [4] M. Krstic, B. Z. Guo, A. Balogh and A. Smyshlyaev, *Output-feedback stabilization of an unstable wave equation*[J], *Automatica*, 44 (2008), pp. 63-74.
- [5] W. Liu, *Boundary feedback stabilization of an unstable heat equation*[J], *SIAM J. Control Optim.*, 42 (2003), pp. 1033-1043.
- [6] A. Smyshlyaev, E. Cerpa and M. Krstic, *Boundary stabilization of a 1-D wave equation with in-domain antidamping*[J], *SIAM J. Control Optim.* 48 (2010), no. 6, 4014-4031.
- [7] A. Smyshlyaev and M. Krstic, *Closed-form boundary state feedbacks for a class of 1-D partial integro-differential equations*[J], *IEEE Trans. Automat. Control*, 49 (2004), pp. 2185-2202.
- [8] A. Smyshlyaev and M. Krstic, *Backstepping observers for a class of parabolic PDEs*[J], *Systems and Control Letters*, 54 (2005), pp. 613-625.
- [9] G. A. Susto and M. Krstic, *Control of PDE-ODE cascades with Neumann interconnections*[J], *Journal of the Franklin Institute* 347 (2010), 284-314.
- [10] S. Tang and C. Xie, *Stabilization for a coupled PDE-ODE system with boundary control*[C], *Proceedings of the 49th IEEE Conference on Decision and Control* (2010) 4042-4047.
- [11] S. Tang, C. Xie and Z. Zhou, *Stabilization for a class of delayed coupled PDE-ODE systems with boundary control*, *Accepted, Proceedings of the 23rd Chinese Control and Decision Conference* (2011).
- [12] S. Tang and C. Xie, *State and output feedback boundary control for a coupled PDE-ODE system*, *Accepted, Systems & Control Letters*.
- [13] X. Zhang and E. Zuazua, *Control, observation and polynomial decay for a coupled heat-wave system*[J], *C. R. Acad. Sci. Paris Ser. I* 336 (2003), 823-828.
- [14] X. Zhang and E. Zuazua, *Polynomial decay and control of a 1-d model for fluid-structure interaction*[J], *C. R. Acad. Sci. Paris Ser. I* 336 (2003), 745-750.